
Pounds and Pence

1. Circle the notes and coins to make £13 

and 37p. 

4. Ben and Abby are counting their 

money. 

What combination of notes and coins 

could Ben and Abby have? 

Find two possibilities.

2. Who has the largest sum of money? 5. Which calculation is the odd one out?

Convince me. 

3. Complete the part-whole model below. 6. Winston is counting the money in his 

wallet but one of the coins is covered in 

gum and stuck. He remembers the coin is 

silver. 

How much money could he have? Prove 

it. 
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Phil

Imogen

£___________
and 

___________p

I have two notes and three 
coins in my money box. I have 
less money than Abby.

I have one note and five coins 
in my money box. I have a total 
of £14 and 60 pence.

Abby

Ben

A £5 + 50p + 20p + 5p + 5p

B £2 + £2 + £2 + 20p + 10p

C £5 + £1 + 20p + 5p + 5p



Pounds and Pence

1. £10, £2, £1, 20p, 10p, 5p and 2p.

2. Phil has the largest sum of money because he has £3 and 78p and Imogen has £2 and 

66p.  

3. £4 and 62p

4. Various answers, for example:

Ben has two £5 notes, a £1 coin, a 20p coin and a 5p coin; Abby has a £10 note, a £2 

coin, two £1 coins, a 50p coin and a 10p coin. 

Ben has two £5 notes, a £2 coin, a 50p coin and a 2p coin; Abby has a £10 note, two £2 

coins and three 20p coins.

5. A is the odd one out because it has a total of £5 and 80p but both B and C have a total 

of £6 and 30p. 

6. Various answers, for example: If the silver coin is a 50p, Winston would have a total of 

£8 and 58p.
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